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C‘
. Determine whether the given variable is categorical or quantitative. If it is quantitative, indicate if
it is continuous or discrete. .
a. Score on a quiz for a class (out of 100 points). G y dvlscr&‘h/
Final grade for a course (A, B, C, D, F). C, »
c. The time it takes to be in line at the driver’s license office. % et s ('1 n k!w/al\
d. The number of classes a student missed. () Bl Crede |
. The heights of all professional basketball playes. () y & v HLALLIWS

f The different makes of cars in the school parking lot. - lﬁHuU[Bﬂ
. Of interquartile range, and thelyariance ich is mogt influenced by an outlying
aleinhedase? Y §3— Q1 = TQR not influenced M&
. A data set has only positive values. If the largest value of a data set is doubled, which of the
following is‘_ngt_true'?
a. Themaninm'eases.\/’ :1) 3) -'T, |0
b. The range increases. '(' new : a)af—] y :L'D
@Thtinmquanilcmg:immm.x s
d. The stendard deviation increases.
e. All of these are true.
" Ifth:t:stscnr-:snfnclassnfjll_}smd:mshavcamannf?iﬁlmdd:u: test scores of another class [50 .?g‘ b [ )]/
ufz.d students have a mean of 68.4, what is the mean of the combined group? ( ' ) J,. 24 4,3.'-} 5‘-}
. If a distribution has zero variance, which of the followiag is true? - 7QILI'
a. All the values are positive.
b. All the values are negative.

=

¢. The number of positive values and the number of negative values are equal.
ll the values are equal to each other.
. A set of data is found to have a sample standard deviation of 25. Suppose that 6 is added to eack
— e ey,
of the numbers in the data set.
a. What can you say about the standard deviation of the new data set? .2, S
b. What can you say about the mean of the new data set? Iﬂﬂ,rm.ﬂcl Lﬁa (p



7. The weights of male and female s : ts in a class ai‘e summarized in the following boxplots:
Males !

Females | ]

)
i
I T II.I I N N R
RO 100 120 140 160 180 200 220

Weight (pounds)

Which of the following is NOT correct?

O The male students hat.anahﬂﬁy than the female students. F oJ_s,g,

About 50% of the male students have weights between 150 and 185 lbs.

d. The median weight of the male students is about 166 1bs. T-ﬂl.-ﬂ
e. The mean weight of the fernale students is about 120 because of symmetry. Y we,

Truwe
¢. About 25% of the female students have weights more than 128 lbs. T‘\"M.E.

3443,k

L= §

=35

L mdian
8. The following is a stem-plot of the birth weights of male babies born to the smoking group. The
stems are in units of kg, N=a zp

Stems  Leaves
2 | 346778889 median =
30| 22346789
4 1,2,2,34
5 3,556

a. What is the median birth weight of the data?

b. Change this into a spl:t stem-plot.

¢. What can be said about the shape of the graphs?
Y
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9. A survey was conducted to gather ratings of the quality of service at local restaurants.

Respondents rated on a scale of 0 (terrible) to 100 (excellent). The data are represented by the

following stem plot.

24

0112345
12566
01

MEome o=l oen L s L

2

03478999

stem = tens

leaves = ones

a. Find the mean and standard deviation of this data. ? = 5 L[‘ . ] La S = | :l.q a?

b. Create a box plot from the data.
minX=32
Q1=47.5

[ Med=51
Q3=63.5
maxx=92

TAR = b3.5 -8 = |60
1.5 (ZaR)= 74
Durher boundane t Q) - 1.SI8 = 41.€-04-5 3¢
B3+ 1.5T2 = b3.5 +24 =875
[23.5,87.57

Q2 s an sutler

i i i i L L i L1

S5 LS 70 5 gd 3 1 k2



10. The boxplos shown below summarize two data sets, [ and 1. Based on the boxplots, which of the
following siatements about these two data sets CANNOT be justified?

Virubis
1
\
ot L .
\ [
. !
! ‘\ i
TR 150 160 1 170
Mo
Data set [ and data set II have the same rumber of data points. F alge.
b. The range of data set [ is greater than the range of data set 11

¢. Theinterquartile range of data set [ is equal to the interquartile range of data set 11.

d. Themedian of data set I is equal to the median of data set 11.
\ All of the above are valid statements.



11 Th:ﬁgimbdnwshowsacww?hﬁmgmmuﬂﬁmmamtgimh
an AP Statstics class. Which of the following conclusions can be made from the graph?

Stat test grades
100.00%
BO0.00%
£0.00%
40.00%

20.00%

.mh.--'_,.m

v ED

F a. Ifthe passing score is 70, most students did not pass the test.

F b. The median test score is less than 70,

T c. Sixty percent of the students had a test score above 80.

TO = 35t ?ur:#:nﬁlb

F d. The horizontal nature of the graph for test scores of 60 and below indicates that those

scores occurred most frequently.



12. Determine if the following graphs are skewed right, skewed left or roughly symmetrical:

¥\

gl

a.

b i

f




For BjuemiaL TR 08 agiei TIES (Pz 383)
Youneed Yo ¥iaw how o Lind the num bes o Combiactiads

)/ Sa green Sl/s€€+f P(X= l{> =(Q P k(l"‘PBA = whee XxX= RV n= hambeh'h‘?cls

7 K= +he k™ 3Svecess
T7C3 7 Cwoose 27

19. In how many ways can a committee of 3 be chosen from a group of 7 people? N [P =
5
/r

Cuer (D)-(3)= T ntr
| 1@ @
0

3:0Cr

=@:

Perm whation — ordec waters
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21. Given:

U ={1,2,3,4,5,6,7,8,9,10}
= A-{2,4,6,8,10}
12,6,8,10

B={1,2,34}
C={4,5,6,9}

a. Find B

b. Find ANB

¢. Find ANBNC

d. Find AN(BUC)©

. B = $5.67,8,9,I0f
b, AOB= fa,4}
Lo RNBNL = 74}
L. A a(RucY
BUC = 31,2,3,4,5,6,4]

BUCY =3 7,8,/3
\P\ n (Buo) ={3,;aﬂ

€mpty set

it o 8



Mutu A.UA:l wcelusive,

22. If the probabilities that Jane, Tom, and Mary will be chosen chairperson of the board are 0.5, 0.3

and 0.2 respectively, what is the probability that the chairperson will be cither Jane or Mary? b I n.]_ewc hm LS ﬁ
* 5- + . D\ = e —]'

23. Suppose a box containg 3 defective light bulbs and 12 good bulbs. Two bulbs are chosen from the
box without replacement. Find the probability that one of the bulbs drawn is good and one is

defective. n= lls_ b LL,LhS
n(s) = 15 Cy = IDS

P(WWWNWWL) = =

[t
I

&

:
7R
&/

24, Identify why this assignment of probabilities cannot be legitimate:
> P(A) = .4, P(B) = .3, P(A and B) = .5
a. Aand B are not given as mutually exclusive events
() P(A and B) cannot be greater than either P(A) or P(B).
P{A|B) is not known.
d. Aand B are not given as indeperdent events.
e. Thae assignment is legitimate.
f. None of these

&




25. Which of the following pairs of events are mutually exclusive (disjoint)?
a. Choosing a King and a Heart from a standard deck of cands
Studying French and Spanish
-?-“? Choosing a King and an Ace from a standard deck of cards
. The events of rolling a sum of 6 and of rolling a double en a pair of die (number cubes)
e. Mo pair is mutually exclusive 3 3'
f. All of these examples are mutually exclusive

P(A|B) = P(anB)

InoLtpe,nW S P(A): p(B) = P(an B) P(B)

P(A|B) = P(R)

26. Given:
P(E)=0.56,P(F)=037,P(EUF)=0.78 P(E‘ UF} - 'P(-E) + P(F\ _ P[E ﬁ.r-:)
s PENF)= IS I8 = .5k +.37 - P(ENK)
b. PEECUF)= .51
c. P(EIF)=
d P(FIE)=
e. Ariﬁanﬂ F independent? @

¢. PEIFY: "257 = 'y~ _uvosy .

d. P(FlE) - el = Y

27. If scis A and B arc independent end P(A4) = .‘345 and (8) = 58, find (AL B).

P(AUB) = P(AM P(B)- P(AN D)
= 3L +.58 = [(30)(s8)] = .73)12




= d.o_b‘! ek\WVe
28, A VCR manufacturer receives 60% of his parts from factory F1 and the rest from factory
F2. Suppose that 3% of the outputs from F1 are defective while only 2% of the outputs from 1-2

are defective. P Eind
Tf What is the probability that a received part is defective? P (F ! }D) ( P?'b) P ( D l F ) = .02

b, If a randomly chosen part is dt:f'tx..ti\rr., what is the probability it came from factory F17

Ve -.;.. =28 P(F)) =4
Py = 0ap  P(D]FI) = P(DOFI)

" P(FI)

.02 1003 .03 = P(pNED
G
D 4 PpNE) = 019

29, Two differert airlines have a flight from LA to New York that departs each weekday moming at a P ( D n Fl’) = - D D?
certain time. Suppose that the probability that the first airline is fully booked on a particular day is
7, the probability that the second airline is fully booked on a particular day is .6 and the [3( D) = .04
probability that they are both booked is .54,

a. Calculate the probability that exactly one of the airlines isbooked. . Ile + D 6 =.22Z
b. Calculate the probability that at least one of the airlines is booked. "? (ﬂ
¢. Calculate the probability that the samnd airhne.ls booked, given that the first airlire is

booked. P (B| A) = P'Pf’ = 'FV—I 273 ¢

d. Calculate the probability that the first airline is bgoked, given that the second airlire is

booked. P(nlﬁ_-;): P(AND = .‘51%{‘ - ‘?/ru

= Pra}- LU"LI P pl =™ " ~—~
A Y hos kA (3) T @D
2= 2 oarline bomked | P(B)=0

P(AnB)=.5Y



30. Using a standard deck of 52 cards,

a. how many different 5 card hands are possible? 52 C 5 = Q- 5 q 3 q C? D

b. what is the probability of getting a full house (three of a kind and two of a kind within a
five card hand)?
¢. what is the probability of getting four of a kind in a five card hand?

Exampla set uf 52 poker pla'ﬂng cards
Suit Acel 2 3 |4 | 5 | 6 | 7 | B |9 |10 Jack Quaen King

3 _i-t'l4 h-l- s s i | iu‘i'ht 5
Clubs | - & ||aa atalals ; [
» .
TR TR re vy v (T a
I ) (e o e || 0] 1e 8 lu. rali
Diamonds ¢ || o | o [le s llen el ges | 50| n l n
il #4 4154#:!‘14#:##.‘4#:&4:#”
' o |iFe|lwe]pee)iow)ivelivee i v|wge] [ I
Hearts W || v vl eifiete vl i3 2 l ﬂ
oL woal] w e e ome| e o] e af|| et A ]| WA I
i e | fe e alliee|fie s inslselies el ir i
Spades & | . | o ea % el it! i ﬂ‘ ﬂ
gl e | walee e e e e 1

b. 10O OO B (4Cy) - 12 (4Co) = 374y

374y
P(wﬂullh,msﬁ-) - mo % 0D 14

13 1z
C. G000 O 4 13(4ey). al4e) = G2y
Y Cy 4C)

HE o kund) = GZL{ESQH&D s~ ,00bd2Y



Statistics Practice
AP Statistics Exam Review #2

Bivariate Data { r \

. A value of the comelation coefficient equal to - I indicates that there = 2 perfect negative relattonship between the dependent
vanable y and the independent vanable x. - e

. A positive comelation coefficient indicates that large values of 1 are assocated with Ilﬂ.l' values of y. /
_ T _ v large
. MMgﬁﬂmnu]wmmfvmuhhMuhungpmHnduuﬂnd&_r{m_w.
. CGienerally, the correlaton (either positive or negative) between the vanables for the sample linear regresszon model], ﬂ?:{hm:r
worse) will be the predictions of v for given valses of x.
. me:ilmph:Imqu:ﬂn:rnmnd:l.|fwmumin'pimhnlmmmmlﬂmmm:'al then the slope
of the regression line 15
a -1
b. +1
positive
-y negative

¢ The coefficent of determination can assume negative valses

e ——

'r!-:-
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Use the following set of observations for the independent vanable x and the dependent vanable v in questions #7-9;
(x[-3[a[1]3
FAEREREIEN

7. The comelstion coeficientis: § = __'EG]'!]
8. The cocfficicnt of determinationis: 2 _ Q) DY B
9. The least squares linear regression equation i = L.I-Laﬂ.

10. The comelation between two scores X and Y oquals 0.8, 1f both the X scores and the Y scores are converted to z-scores, then the correlation
between z-scores for X and z-scores for Y would be

11. In the least-squares regression lme, the desired sum of the errors (ressduals) should be ﬂ'

12. Suppose that you have a least squares regression Ii:'lﬂu'Fj:L.ﬁS—E_.?I and that the actual ¥ value comesponding tox = 10 15 -19. What 15
T -—[!.LE—::.:rfm)Jl 35

13. The equation of the least squares regression line for & set of given points i § = 1.3+ 0.T3x. “‘Hulh:mﬁn]fm H'J".l‘i'
14. A study of fuel econaomy for varous automobiles plotiad the fuel consumption reg = @I

vi. speed. A LSRL was fit to the data. Here s the resachssl plot from this besst-saquenes i1 ﬁ'tu-ﬁn ;:nnnuuﬂurmdmluﬂl_-,m
about the linear model?

':f.’”*“m / Cendrodihe Hu Qunenr model

l=lﬂ Y=10.0BB667




15. A prediction of the world®s population in the year 2088 & an example of mepo]mhm
16. An observation that causes the values of the slope and the intercept in the line fit ty ba congiderably different from what they
would be if the observation were removed from the data set is said to be

17. Which of the following residual plots indicstes & reasonable fit to 2 given set of data?
-
u'n:'- h'nr‘i"-:-,'c' d o '-'"':r‘
: L] l‘ '-I . ‘h‘..‘-- =] -

I8. The following data lists the temperature readings (in degrees Fahrenheit) at different settings on a thermostat for an experimental cooling
canlaner.

Setting 1 2 3 4 5 3 7 8 ] 10
%T:mpnm_ﬂﬂ 85 SERET 77 (™ |71 &5 |55 |4

A
8. Whatis theleas squares regression i squation? U = G, (,0 — 8,919 X
b. What is the value of the correlation coefficient? b = — .%"r‘l
¢. Find the residaal plot.
d Would you say the LSRL is a good model? py0 _\a s




> resid{ s temp-setting))
1 2 L & 5
-4 1E1BIEZ -7 TE36364 -@. 54545 207773 24909991
] T | 9 19
3.9y 3. TITIT 3. MAGASAY -1 BBGNENG -8. 4181518
> plot{setting, restiaind tenp-setting)))

resid(im{temp ~ setling))

4

2

4 4 4 2 0

—



II.  Sampling and Experiments

18, hmﬁrﬂngmwyﬂﬂmumﬂimhﬁﬂ!Mmmmﬂuwﬁwuﬂm questionnaire regarding
displays of their client’s product. This sitaation is an example of what kind of ssmple? ﬂ es “.5{

19. A SRS was selecied of large urban schoo] distnicts throughout New England. The selected distnicts were § ul:]::t:hstnl:u Within
each district, a SRS of its high schools was chosen and the principals of those high schools were mterviewed. Ths situation 15 an example of

2 P{lﬂ%_

20, In order to assess the membership’s attitudes about a new Supreme Court decisson, & kocal bar sssociation selects a SRS of 100 lawyers from
its membership list. Surveys are delivered to the selected lawyers. 63 of the lrwyers retum ther surveys. 43 of the respondents disagree with
the new ruling.

Which of the following is of greal concern m this situation”
a. Nothing is known about the parameters of the population of interest.
b. Nothing is stated about the methodology of the SRS.
There may be a problem with the sampling frame.

may be a problem with non-response baas,
g. Mone of these 15 true.

True or False? Fﬁ'&
21. Volumary response samples often under represent people with strong opmons.
22, Convenience samples ofien lead to under coverage bias Ti'u.f
23. Questionnaires with non-neutral wording are likely to have response baas. Tf"u_t
24. In an ohservational study we impose a treatment on the subjects. Fﬂ_‘lsﬂ,
25, The entire group of individuals we want information about is called the sample. pﬂ,llﬂ.
26. Which of the following describes 2 simple random sample (SRS)?
a2, successively smaller groups arne selected within the population in stages
b. choosing the individuals casiest 1o reach
@!ﬂﬁlﬂmuﬂhﬂﬂﬂuﬂﬁmnﬁmlﬂglﬂﬂﬂﬂfﬂﬁjﬁm“i

every possible sample of a given size has the same chance to be selected
e. none of these
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Discrete Random Variables E[ij = 0-43. '25-]- ' L1 + Q.Qg"— ‘,L
= D,

. A distribution of grades in an introductory statistics class (where A = 4, B = 3, etc) is:
X2 0 1 4 4

1L
X [0 [1 [2 [3]4

P(X)[.10].25].30?? .10

Find PX=3) ,10 +.2S ¥.30 + X + .10 = | € =.25

P{Y=3) z,28
b Find PA<X<3) = P(1£X€D) = ,2A5+.3D = .55

P

c. Find the expected (mean) grade in this class. E[_Xj =0 { . D)"' |(. 15\ + 2 (ISD)+ 3(75) +"'(,|D) - 34

d. Find the standard deviation for the class grades. Vﬂ.f f)(:l = E in:l - ’Ex‘])’. - 5 _QQ - "3
&=~ -4 (t_ =203

e. Find the lowest grade X, such that P(X > X)) <0.5 X

P(xzu)=.10
P(x23)=,25+.10 = .35

P(x22) = .30+.25 +.1d= . b5 >.5
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Elbe]= 0+ .2324 .32 ¢+ 1,L2 44g

2. A discrete variable X has the following probabilit distriliﬂtion: = 7‘ 06
Y 0O | "y( 7
X 0 1 |, 2 3 14
P(X)| 0.12]0.32 [ 0.08 [ 0.18 [,3
a FmdPX=1) |- (/24 34 08+ ,18)= I-.,1 =,3

b Fnd PA<X<3) = DY +.% = AL

Ph <X <3)
c. Find the mean grade in this class. E&] = J-L:'. D - .32 + .”p -+ .Sq' + I,l = 1,11

d. Find the variance for the class grades. Y&f[_)(] = E-I:X,'j ""’(ED(])L = 1.6 — [2‘23')7_
T = .13

c. Define a new variable Y such that Y =3 X — 1. What arec the mean and variance of Y?

JJ.\":EDG = EBX-Ij = 3Elx] - = 3(2.11)..\ - 5.60
6?1 =Voar Y] = var [3x-17 = 9-Ver[x] =  (a431,) = 19.1844



P‘-—‘--g n = |DO

3. A headache remedy is said to be 80% effective in curing headaches caused by simple nervous tension. An investigator tests this remedy on
100 randomly selected patients suffering from nervous tension.

a. Define the random variable being measured. X = the number of people who have headaches cured
b.  Whatkind of distribution does X have?  DAnoTi AL

c. Calculate the mean of X ) P = QO

—

d. Calculate the standard deviation of X '{T‘ P ( - P ) = ] | $D (. 3)(‘9‘_) - l+

e. What is the probability that between 75 and 90 (inclusive) of the patients will obtain relief?

P(15 £ x<90) = P(X¢a0) — P(xeTy) =.4102

0,l,...-. '1’6,‘!4% -..,99,99, 91, .. joo




,_( p=.0 l-‘p:.l-} G{’_Dme‘l‘ﬁﬂ;

4. A quarter back completes 60% of his passes. We want to observe this quarterback during one game to see how many pass attempts he makes
before completing one pass.

a. What is the probability that the quarterback throws 3 incomplete passes before he has a

completion? (L) = . 6394

b. How many passes can the quarterback expect to throw before he completes a pass? (Round to

nearest whole number) ) o
E[ YJ = 'T = "G ~ 3\1

C. Determine the probability that he makes more than 3 incomplete passes before he has a

completion.
p P(x93) = (M)° = oy
d. What is the probability that he has 4 or fewer incomplete passes before he completes one?
\|
G LY+ () + 8 Y+ (W

=, 03487¢
gQ.Dme-'th'P(n[ng) or |- P(X7€):]— .L\g



IL.

Continuous Random Variables.

. Think about a density curve that consists of two straight-line segments. The first goes from the point (0, 1) to the point (0.7, 1) then the

second goes from the point (0.7, 1) to the point (1.3, 0)

A+.3=2)

a What is the probability that X fallz bel"' 052" 1.3
' ! 1 ow 0.5?
(x ‘g) = ['SYI) = 05‘

b. What is th bability that X lies b 0.7 and 1.3?
at is the probability that X lies between 0.7 an P(r_l 2 X I'a) - '3

c. What is the probability that X lies above 0.2?

POX?7.2 = (Y1) +.3 = . ¢

d. What is the probability that X is equal to 0.5?

P(x=.5)=0D



7. Suppose a density curve is defined by the function f{x)= 2 for all values between x = 0 to x =0.5. Find the median of this density curve.

(
{
5 l
\

8. Consider a uniform distribution that is defined for 0 < X < 4.
M

—_————

What is the probability that X lies between 1 and 2?7 (Hint: draw a picture)

bx =

l/q]

W

’X—-—ch

o

I\~ 2

L.|.

4 PCreXed= Yy=,15



N(ijlo)

9. The distribution of raw scores on a chemistry final is approximately normal with mean of about 50 and standard deviation of about 10.
___._—-'— —

a. What is the probability that a student will have a raw score that is more than 457

P(¥54s) = ndrmaledf (45,9929 50,10)
TS

b. Give the interval for the middle 95% of scores.

//7‘%'\_ e Dj

[ b - '
» 5
10. If a group of students have test scores that are normally distributed with a mean of 82 and a standard deviation of 4,
a. half of the students made below a grade of

82

b. If a student made a grade of 87, what is their percentile rank? wg gqﬂ};/ ‘:M
P(x<g7) - %94
-

g2 81

c. Find the probability that someone made less than a grade of 74.

P(x<n¥) = pans



X - LA

Z2= "5
11. If a sample has a mean of 48 and a standard deviation of 3.2, what is the value in the set that corresponds to a z-score of -1.6?
VG ] %
(mrmd.) L = X-48 ]
' 3 Z x - Q -83
'
12. The z-score associated with a measurement x represents the number of that x lies above the

mean or below the mean.

Strdord deviations

13. Suppose family income in a particular suburb has been found to be approximately normal with a mean of $52,137 and a standard deviation of
$19,452. What percentage has an income in the range of 3{50,000 to $80,000?

W, 11X P( 500 X 2 80000) = Nor malcdf (56000,32000 , 537,

199452
= 4677

14.Find P(-12<Z<19) = | 8562
- - - 1




15. Find the value of ¢ so that
a.  P(Z<c)=08810

\hv Nocml.3310)
l&=1.18)

b P(Z>c)=0.1469

iny Norm (8 53] )

[C=1.05 |

c  P(-c<Z<c)=0.7699

o = 1,00

g6ch bos L 18 '—7:-?-‘— =.ses
Plz<e)= ,isss 1649
= $899¢C

Inv Norm (,88445)



16. Suppose you rank in the top 10% of your class. If the mean GPA is 2.8 and the standard deviation is 0.43, what is your GPA? (Assume a
normal distribution) T —_ —
M - a. g 6 - . "[' 3

/.1_!); Iny Norm (,%) Q,?J‘LB) :)3135_ ! 23

y InyNorm (,4) = |, 2824 2-seore .  [12%2= /7
! _—~

17. If a population has a standard deviation ¢ , then the standard deviation of the mean of 100 randomly selected items from this population is

—N——
N =100

é;Z/m ;%

18. A waiter estimates that his average tip per table is $20 with a standard deviation of $4. If we take samples of 9 tables at a time, calculate the

following probabilities when the tip per table is normally distributed. L= a 7 N= q
2 -
a. What is the probability that his average tip is more than $19? 6i ﬁ

P(X >19) = nermodedsf ( 14, [633020) , A Y3)
=.,7734

b. What is the probability that his average tip is between $19 and $22?

P(14<X < 23) = .10 6,



v p=.8la

19. In a large population, 86% of the households own computers. A simple random sample of 100 households is to be contacted and the sample
proportion computed. N= 10D

a. What is the mean and standard deviation of the sampling distribution of the sample proportions?

by =, gl 6y - 4’9&(1-3(.) ey

b. What is the probability p will be between 82% and 90%°?

P('SD‘(?L'QD) =hbfm5JC.d'j: (tgal'qvj .9faj-03'+'l)
~
= .15

20. What is the difference between a discrete random variable and a contmuous random variable?

7‘P(x ) =0

eoun’f*bm‘ Inerval



Rinomal,
‘[ P =.15 L[ n

5. 15% of the families in a certain subdivision have a pool in their back-yard. Suppose a sample of 10 families are taken at random from this
subdivision.
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a. What is the probability that exactly 3 of the 10 families have a pool?

P(x=3) = ,124¢ bmode{l(lol,l's,B)

b. What is the probability that at least 2 of the families have a pool in their back-yard?

P(xsa)= |- Pxey) = —d9aT

= |- .5u4Y3 . ysg
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c. What is the expected number of pools we should have from this sample?

E[x]=np=10(I5) =15





